(1 Adgni) Jg2l podll = yuyad judal
t s oo djue J41 dosoll dosonldl abadl pal: dgal Jigull
il Sl Baag LS B (3 ) s Gl lhaj daga -]
0.00 30 30 0 0.3 O
.‘.Ll-.&\ ol Ea oy = 10 sin ( St)wmwkp?‘aﬁﬂ—z
Pl BLEAY) A o ((rad ) Baags Wigsly (S) Saag dai¥g (€M) Baag
50 O 10 O 50 Sa O
303 ( 053 ) M gt 87 dagal ragel gl gl gl gl (0.75 ) m gt foge =3
Dt il Baagy (s JANS gl itay Al wic Alasall Aafi) ol L oliagal
1.28 1 0.750 053 0 0.220

. dagodl aapd daljs ytgodl LAl dcpu joii A-1

s éud bl dtwndl Jo s Sl J1guull

:i_.am‘cd..awid&i.“gﬁ‘.ns (25)HZA®@9}A\(X)D¥\?§3@}¢M

-------------------------------------------------------------

-------------------------------------------------------------



